



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(5 + \frac{3}{4}\right)^2 - \frac{2}{3} + 3^2 - \frac{3}{2} =$$

$$\left(4 - \frac{1}{3}\right)^2 + \frac{1}{5} - \frac{3}{2} + 3^2 =$$

$$\left(4 - \frac{1}{2}\right)^2 + \frac{1}{2} \times 2^2 \times \frac{2}{5} =$$

$$\left(3 + \frac{2}{5}\right)^2 - \frac{1}{2} \times \frac{1}{3} + 4^2 =$$

$$\left(\frac{1}{3} - \frac{2}{5}\right)^2 + \frac{2}{3} \left(\frac{1}{3} + \left(\frac{3}{2}\right)^2\right) =$$

$$\left(\left(\frac{2}{5}\right)^2 + \frac{1}{2}\right) \times \frac{1}{3} - \left(\frac{3}{4} - \frac{2}{3}\right)^2 =$$

$$\left(2 - \frac{3}{5}\right)^2 + \frac{1}{5} \times \frac{3}{4} + 4^2 =$$

$$\left(\frac{3}{4} + \frac{3}{5}\right)^2 + \frac{3}{5} \left(\frac{1}{4} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(3 - \frac{1}{6}\right)^2 - \frac{3}{4} - 4^2 + \frac{3}{5} =$$

$$\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) \times \frac{3}{4} + \left(\frac{3}{4} - \frac{3}{4}\right)^2 =$$



năm phân số, thứ tự các phép toán có dấu ngoặc

Tên: _____

Ngày tháng: _____ Điểm: _____

$$(5 + \frac{3}{4})^2 - \frac{2}{3} + 3^2 - \frac{3}{2} = \frac{1915}{48} = 39\frac{43}{48}$$

$$(4 - \frac{1}{3})^2 + \frac{1}{5} - \frac{3}{2} + 3^2 = \frac{1903}{90} = 21\frac{13}{90}$$

$$(4 - \frac{1}{2})^2 + \frac{1}{2} \times 2^2 \times \frac{2}{5} = \frac{261}{20} = 13\frac{1}{20}$$

$$(3 + \frac{2}{5})^2 - \frac{1}{2} \times \frac{1}{3} + 4^2 = \frac{4109}{150} = 27\frac{59}{150}$$

$$(\frac{1}{3} - \frac{2}{5})^2 + \frac{2}{3}(\frac{1}{3} + (\frac{3}{2})^2) = \frac{259}{150} = 1\frac{109}{150}$$

$$((\frac{2}{5})^2 + \frac{1}{2}) \times \frac{1}{3} - (\frac{3}{4} - \frac{2}{3})^2 = \frac{767}{3600}$$

$$(2 - \frac{3}{5})^2 + \frac{1}{5} \times \frac{3}{4} + 4^2 = \frac{1811}{100} = 18\frac{11}{100}$$

$$(\frac{3}{4} + \frac{3}{5})^2 + \frac{3}{5}(\frac{1}{4} + (\frac{1}{2})^2) = \frac{849}{400} = 2\frac{49}{400}$$

$$(3 - \frac{1}{6})^2 - \frac{3}{4} - 4^2 + \frac{3}{5} = (-\frac{731}{90}) = (-8\frac{11}{90})$$

$$(\frac{1}{2} - (\frac{1}{2})^2) \times \frac{3}{4} + (\frac{3}{4} - \frac{3}{4})^2 = \frac{3}{16}$$